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THE [ JEXADECIMAL PUZZLE binary artr.

An Advanced Mathematical Puzzle With Sixteen Variations

Congratulitions on owning this fascinating and infriguing wexslen puzzle game. Finely
crafied, the Hexadecimal Puzzle acrually consisis of sixteen Puzzles in one. Some com-
binations are relatively seraighdorward, and some are mystilyingly complex, You
and your Eunily or friencs will find hesars of enjoyment selving eich of the

combinmions and then sitting back and waiching it tintJize others
they work their way through the various salutions.

The object of the Hexadecioml Puzzle is 1o remeone the slicling
carridge from the stationary base, Tt is a mathematical puzzle,
based on binary arithmetic. There is no trick 1o solving it.
Although we have includled a *helpful hint” on & separate

page, the best solution may be simply to think through each
combination, and work the switching bars back and forth

untll the sliding carriage is freed from the base and the puze

is solved. For the strong of heart, read the directions, set aside our
hints, and bave at it The fun is in the figuring)

Fulenl # 3437214



Sliding
Curringe

b, The carriage i (ned with eighs rectangular switching s,
which can pisor on their ceners woangle in eitber of s diree-
tzons, Tl Dase, which Bolels e carriage

churiizg the puzalek o X wd witha  Exit
nuin bleck prece continaeg fonr Blocking Block
kes These compesients are illusteared
Figure 1

Switching
Bars

As (e puzzde is sarted, e Girrage is s
inside the pezele The eipht switch-

iy hars should slang s front the e
block, sor sathe ends of the bars can wack
undder the e, as the pozele is sz in
Flgure 110 this posicion, die carriygg

is trapped insiche the hase by the
exit block.

Main
Block Picer

Figure 1

Statienary Blocking Key
Tase Blocking Keys Pin

To solve we pute e witching s mus e swinchod o he Open

apposite sesng ol that shosen in Fignre 2, s sean onove Srecly past e Gale

enat block This is clorse by pashing the eais block pieac i the b
whicly will open the pase and alkow one bar at atime 10 swiich posi-
tions (sheavn in Figure 2) When all the bars kave hoen switched
the carviage is Tree of the exic block and can slide oot o0 e base

%.l

T e, hwecwer; can be opened ooly when tw swiching
hars Facing the blockieg keys murcl: the posilicn of the

keys, Thus, slide bars abstructing the blucking keys
must (st be ssitched ks form a patiern that
onstches the key patern. As vou will soon
Tearn, swakching bars 10 switch other bars
T et e thie bar e wans so switeh can

e o Frasrating experience. The solation

is to find a swirching sequence of the buars
through the wite which plces all bars froe
ol the exit hlock.

Figrere 2




The esssential conoeg o thy nuzzle Is

10 cukenirale an salving he switching
buars furthiost from e rmin hlock, even
though Ue puze constins s of
Your amions 1o the bars neares the blode
Progress made on the near Lars muse
HIVE Wy 10 rogress on the Futher bars,
boemse the relatonship hermoen switch-
ing bars and their cpposing blocking
kevy changes with eacty puzde move.
With the Lexadecimal puzzle, vou buse
10 kst some 1o win sope,

After the cighth har is swilched, of
COuse. yuu are left with 3 new switching
Seguenee 1o solve, which now bus seven
bars which may or may noe have 1o be
switched, insiead of clght, The procesy
explained abowe st be repesnd,
switchig the sevenrh har 1o the apen
pesitian, sind then die sixth, et unril
exdiof the eight hars have been solved
in arder

Fortunately, ach amcceeding bar is eay-
ier than rhe last, because Fewer remain
ing bars get int e way When only the
second and firs bars are left, you e al-
MOstout of the woods, Our of the winls,
thst is, nntil vou realize Ut the process
must be reversed o ger the carrsage back
ar the hase for the e would be przzle
ST 1 ke Hids or her narny

One [l suggession. Althouph Tesetring
the puzzle cin be us challenging as soly-
g it, onee the puzzle has been sohvexd

IT 13 Sometinnes landy 1o resdast al] e
kews o the "1 position, The buars can then
De moved buck ingo SHITING positon i
order, and rhe kevs repositioned in
anyarrangement for e nese pazzle
sequete,

Helpful Hints
for your

Hexadecimal Puzzle

[Please Read Only Wher Frusianed)

This is 4 helpful hint we can share with
those who might weloome 2 linle assis
e I overcumming the pucdes Ghal-
Ienges. s yoa smar, Ty e think of cach
Blocking key combimation as eighy sepa.
rae: pRiles, ane puvzle for e swineh-
inng Lo, startisg witls e eighily bar
{farshess from the exir Blocrk ) Focns A
n hew we switch tha eighth bar To pet )
i anel mone: i, vou miss Rrst sor the arber
sevenistide bars in exactly e right vem
hinaticn in rebason w e blocking key
panern and the: exir block ro allow: the
Baie o open for the eiglal bag I evey
one af the first sesen hars is swirched in
e wrong direction, the fass bar A
ressch the gare, or the gare cannor he
opered w switch this De,

Lew should you set e first senen birs?
Rexass nensr on the sevenely bar Tn ws cur
TRl POSiLicn. would it be Llocked by thae
blocking key which is mowld OPpOsE
when e eigluh bar i i the gate 1 L
swirched? I s, it must pe swirched
befove the eiphil bar can be switchexd

T switching the: seventh bar is necesss v
t0 swch the cighth bia, focus nex oo the
sixlhy bar Would the sixih Lo e biloceed
by its cpposine hlocking key wihon he
sevenil: bar i in de e I s, 3t st

et swvitched switch the sevenrh har

to switch the eighth bar Is e Gl by

in proper position when rhe siagh wonld

be i the gae? 1l fourdss ard e and on,
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